Wednesday 25.11.20
Maths
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Use BBC supermovers and practice your times tables. 
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https://www.bbc.co.uk/teach/supermovers/times-table-collection/z4vv6v4
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Now have a go at either the Tricky, Tricker or Trickiest activity
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Write Ahe associated /j",a/C/t/s /j"/oxr Ahese.
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https://www.bbc.co.uk/teach/supermovers/ks1-maths-the-2-times-table-with-bridget-the-
lioness/zrrx92p

https://www.bbe.co.uk/teach/supermovers/ks2-maths-the-3-times-table/z6sw3 82
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‘ This array shows 4 x 3 = 12 ‘ ‘ This array shows 3 x4 =12

Multiplication is commutative. This means
the product is the same whichever way the
calculation is done.
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We can also use the array to show the link
with division and fractions.
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7 x 3 =2l
associatled facts: 2 -7 _3
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